WA A £ #4 Chapter 6 Techniques of Integration 6.3-6.6

6.3
1-6. Write out the form of the partial fraction decomposition of the function. Do not determine the
numerical values of the coefficients.
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7-34. Evaluate the integral.
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35-40. Make a substitution to express the integrand as a rational function and then evaluate the

integral.
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41. J In(x* - x+2)dx . Use integration by parts, together with the techniques of this section, to

evaluate the integral.
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6.6

1. Explain why each of the following integrals is improper.
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5-32. Determine whether each integral is convergent or divergent. Evaluate those that are

convergent.
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41-46. Use the Comparison Theorem to determine whether the integral is convergent or divergent.
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47. The integral Jjﬁdx is improper for two reasons: The interval [0,%) is infinite and
+x

the integrand has an infinite discontinuity at 0. Evaluate it by expressing it as a sum of improper

integrals of Type 2 and Type 1 as follows:
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51. (a) Show that f xdx is divergent.

(b) Show that }im J-_ttxdx =0 This shows that we can't define f f(x)dx = }im J:xdx
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52.1f [ f(x)dx is convergent and @ and b are real numbers, show that
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